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Lt 2 ()

Instructions :

(i7)

(iii)

g9 ShHTh 1 IS U9 ¥ | 3UH @ue (1), WvE (d) W
TUE (T) A § | 7 @Ue | 5 J9 € q91 8 U W 1 3h
steifea ¥ 1 gfte anfua fomnet wea & @y few o fadsh =
A qre |

Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each. Visually impaired students

follow the instructions as given with the questions.

¥ hHR 2 ¥ 6 % e STIF U € | YIE T W
2 3 sTEfed ¥ (YIH IW R SATUHAH  wee-HIH
307 T)

Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of
each answer is 30 words)

Y9 Al 7 W 10 6 oY SU0T Y 21 TAE Y W
3 3@ omdfed ¥ (UR® IW KN AfhaH  weE-HW
50 IR ¥)

Question Nos. 7 to 10 are short answer type questions.
Each question carries 3 marks. (Maximum word-limit of
each answer is 50 words)
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(iv) ¥ HHE 11 ¥ 14 TF 7Y STE TH § | TAF T R
4 Fiw ofeifed 1 (YH® SW H AfHRAH  IR-HE
75 7% 7)

Question Nos. 11 to 14 are short answer type questions.
Each question carries 4 marks. (Maximum word-limit of
each answer is 75 words)

(v) U HAG 15 TA 16 < STWHE TH T | TR TH W
5 3@ omdfed 1 (UR® IW I AfhaH  veE-TW
100 TR T)

Question Nos. 15 and 16 are long answer type questions.
Each question carries 5 marks. (Maximum word-limit of
each answer is /00 words)

(vi) U9 HF 17 T 18 <H IWE Y T TAH TH W
6 % omEfed T1 (UEF IW W SAfUwaH -
150 913 ¥)

Question Nos. 17 and 18 are long answer type questions.

Each question carries 6 marks. (Maximum word-limit of
each answer is /50 words)

q99-1 (@Ue-31) WEl fashed T fofEe . [1x5=5]

(Section-A) Choose and write the correct option :

(i) ST 1 YATE BIATE ¢

(30 T e & (@) < femmedi §

(®) < feemsti | () =i foensti

Energy flows :

(a) 1in one direction (b) in two directions

(c¢) 1in three directions (d) in four directions
(i) SITOT oI YIF T

(&) nfaa SRS (&) ™=

(@) s (3 TS

Olfactory sensory indicator is :

(a) methyl orange (b) onion

(¢) turmeric (d) jaggery
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(iii) A o FHA X T Sea! ST BT, -9 HOAT HoR0T hi Hed Hidl © 2

(37) = () Hagd
(7) fafeor () ST gt

Fast cooling of sand at night represents which type of heat

transmission?
(a) Conduction (b) Convection
(¢) Radiation (d) All of the above

(iv) Tl gU0T 3 Wk Tde & 5 ol hed © ¢

(37) Tehdl 5, () ya
() gl = (3) q=A 4

The centre of reflecting surface of a spherical mirror is called :
(a) centre of curvature (b) pole

(¢) radius of curvature (d) principal axis

(v) ST T A g R

(37) Fe,04

(o) Fe;0,

(%) Fe,05+xH,0

(%) FeO

The chemical formula of rust is :
(@) Fey0O4

(b) Fe;04

(¢) FeyO5°xH,0

(d) FeO
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(@us-v) o Tl i gfd S :
(Section-B) Fill in the blanks :

() —— SAERTHT T S T |
____1s the father of genetics.
(if) —— JifAw St 1 faga St | afafda Far g
____converts mechanical energy into electrical energy.
(iiiy CH,CHO ¥ farcass ¥ — %
Functional group in CH;CHO is __.
(iv) Toudia Jroehi & GASH § o HIRTR hl —— FEd ¢ |

[1x5=5]

A cell made up of a combination of opposite gametes is called .

(v) T SEe ¥ Ices & oferen gt sta —— €1

All organisms in the food chain are _ except the producer.

(wus-u) 3fua gy Sifst

() (@)
ORE - (@) TS,
(i) HTERU THR - (b) THW
(iii) 9 A - (¢c) Tfaw e
(iv) =Tar @t difers - (d) @
) RSN - (e) Hfeaw FARES

(Section-C) Match the following :

(A) (B)
(i) Apple — (a) L.PG.
(i) Salt — (b) Mirror
(7ii) Liquid butane — (c) Mallic acid
(iv) Silver polish — (d) Non-metal
(v) Iodine — (e) Sodium chloride

[1x5=5]
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TT-2  MgCl, § U 319 o Teh &I Hefoh 3T ohich 369 Wied fafaq)  [1+1=2]
Separate acid and alkali radical from MgCl, and write them with
their charges.

ygT-3 et fere 9 ey o wee © 2 [2]
What do you understand by rectified spirit ?

Ug-4 YT GoTdd R ? [2]
What is nuclear fusion ?

YyA-5 A H9id A H AW T4 (HE &) | 2]
Write the name of sexually transmitted disease (any two).

U9T-6  Haisrl fhd wed § 2 2]
What is omnivorous ?

yya-7  Wfady T8 ®ed € 2 e A fafa | [2+1=3]
What is resistance? Write its unit.

Y9-8 Y T3l ik 3T QU ol YEAN K U1 ? TH U K Th TN
fafau [2+1=3]
How will you identify a convex mirror by touching it? Write its one
use.

U9-9  HRALBES YHMT Skl =3 AHifehd Y@= sHI3T | [2+1=3]
qIT : gfte Fifya faensf faF & T R BRAGIES YT T J0 7 |
Draw well-labelled diagram of Fahrenheit Scale.
Note : Visually impaired students will describe the Fahrenheit Scale
in place of the diagram.

Y99-10  Sal W Yehid 1 &1 THE ISd1 © 2 [3]
What is the effect of nature on organisms?
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STETYIhT T 1997 TH HUA SAAEH 9gH | FY HeE X Fohdl © ?

e g 3IE fafau | [1x4=4]
How can the knowledge of heredity help us in maximizing the crop
production? Write any four points.

HYdar

OR

Sttell o forerre fagid o =18 =meqed fog fafaw)
Write any four main points of principles of biological evolution.
T A W =R fae=H= 4, B, C, D i W ok | Si= &1 a9 pH 7=
HEW: 7, 14, 1, 6 9T gUI TH YR R ALY foh hA-91 faera—
() T TA T
(ii) I ITAT §
(iii) oI 3TRAT §
(iv) S © [1+1+1+1=4]

Isha tested 4, B, C, D solutions from universal indicator and found
pH values 7, 14, 1, 6 respectively. On this basis, tell about the

solution which one is—
(/) strong alkali

(if) weak acid

(iii) strong acid

(iv) neutral

S-SA
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arerar
OR

SIS (I T &AT=7 ) T HIhRE (I G&AT=15) 3TYH Aad
YR % TE-15 F T L |

(/) THI # SerEeie o= fafew

(if) TTH ¥ HE-T I Afeh foegdi-Hoit grm i) =i ?

Nitrogen (atomic number=7) and phosphorus (atomic number=15)

belong to Group-15 of the modern periodic table.
(i)  Write the electronic configurations of these two elements.

(ii) Which will be more electronegative and why ?

U9A-13 I o HIGI S dF 1 e AHifhd TEf=sl sHEY | [2+2=4]
qi : gfte aIfera faeneff areT S 79 & 97 & T W 39 fafy=7 37
T FUA I |

Draw a well-labelled diagram of human female reproductive system.
Note : Visually impaired students describe the different parts of

female reproductive system in place of diagram.

s{qar
OR

Mg & ScSi d31 ol o3 AMifehd WEfas oF1Ey |

T : gfte YT faens 3cqei7 a4 & a9 & T T 3% YA &7 7
FT

Draw a well-labelled diagram of human excretory system.

Note : Visually impaired students describe different parts of human

excretory system in place of diagram.

S-SA P.T.O.
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U9T-14 3y foqen fafy @ wHifes 3vad o1 Sced Fd8 &3d © 2 39 & SUAn

WIT-15

YIi-16

fafeq| [2+2=4]
How acetic acid is produced through quick vinegar method? Write

1ts two uses.

3ar
OR

TR 3% URE oA ot fafyr =1 Temaftes gt gfed 9viH sifse |

sHeh g Sua fafau
Explain the preparation of Plaster of Paris with chemical equation.

Write its fwo uses.

foRIa SYFON o AT & T W el B gie gaentar fafa | [5]

Write any five precautions while using electrical appliances.

sTqar
OR

TFETh 1 &It XS & g gier ot fafEw |

Write any five properties of magnetic lines of force.

(37) T 1 f7om 1 § 2 s9em 9 fafau | [2+1=3]

(&) TR 1 WA Rl Fgd € 2 [2]

(a) What is Snell’s law? Write its formula.

(b) What is reflection of light?

S-SA



991-17

[9]
arerar

OR

(37) 9 ! HRE g foRd Ed € 2 39 S AEe fafem |
(&) YRSl T ATed fordl hed & 2

(a) What is focal length of lens? Write its SI unit.

(b) What is refraction of light?

(37) B & S (Shad THEeh TR fafgn) —

(/) Sfean TS 9 fshan

(if) hfcerEm FrEie s T fomar S

(i) TR o1g T AgeeH 9 fohan [1+1+1=3]
() o1q 9 A9g H a7 i fafan | [1+1+1=3]
(a) What happens when (write only chemical equation)—

(i) Reaction of sodium with oxygen

(if) Calcium carbonate is heated

(iii) Reaction of magnesium with nitrogen
(b) Write three differences between metal and non-metal.

3rar
OR
S-5A P.T.O.
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(37) HRU IAarEy :

() TFE-18 % a WA Tt SAfvfhar § 9 78 o ¥ |

(i) ST I H WA, FET T STAR I T |

(iii) Mg t THF A ¥ HH B A B | [1x3=3]

(F) @GS 9 3 § @1 3T=<R fafan | [1x3=3]
(a) Give reason :

(/) Normally elements of Group-18 do not take part in

chemical reaction.
(if) Gold and silver are used to make jewellery.

(iii) The brightness of metals is reduced by air.

(b) Write three differences between mineral and ore.

u9a-18  (37) T Hhivrenisi & W faga T o1 & fafay |
(&) WY YW o Ffq G B T | T 2 [3+3=6]
(a) Write the names of blood cells and their functions.

(b) Plants are sensitive to light. Why?

sTar

OR

(37) O™ % IR H &nferd eF a1t fonef dfrgiaia & 9 forgent g
&1 w1 fafEy |
() JUIH WRed & foau g R € | 3 ?
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(a) Write names of any three hormones secreted in human body

and their functions.

(b) Smoking is injurious to health. Why?

oooooooooo
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